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13 (a) 

 

 (b) 

 

 (c) 

cuboid 

 

pentagon 

 

obtuse 

1 

 

1 

 

1 

condone [rectangular] prism 

 

14 (a) 

 

 (b) 

7 

 

1270 or 1274  

 or 1274.2 to 1274.4  

1 

 

2 

 

 

M1 for π × 5.2
2 

× 15  

 

15 

 

454.27 cao final answer 

 

3 

 

M1 for 

2

100

4

1420 ⎟

⎠

⎞
⎜

⎝

⎛
+×  oe 

and A1 for 454 or 454.2 to 454.3 

or SC2 for answer 34.27 

or SC1 for answer 34.2 to 34.3 

16 175 cao final answer 3 

 

B2 for 175.4… 

or M1 for 200 ÷ 1.14 

17 (a) 

 

 

 (b) 

correct ruled line  

two pairs of correct arcs 

 

correct ruled line  

two pairs of correct arcs 

1 

1 

 

1 

1 

 

18 (a) 

 

 

 (b) (i) 

 

  (ii) 

5
–2

 and 0.2
2

 

 

 

a
9

 

 

4b
12

 

 

2 

 

 

1 

 

2 

M1 for any two correct decimal values seen with 

the correct expression 

e.g. 0.04,   0.4,   0.25,    0.16,   0.04 

 

 

B1 for 4b
k

 or B1 for kb
12

 

where k is an integer ( k ≠ 0 ) 

19 (a) 

 

 (b) 

 

 (c) 

5x + 15         final answer 

 

3x( 4y – x )   final answer 

 

15 

1 

 

2 

 

2 

 

 

B1 for 3( 4xy – x
2 

)  or   x( 12y – 3x )  

 

M1 for a correct first step  

20 (a) 

 

 (b) 

 

 

 (c) 

4 cao 

 

27

21

 oe isw 

  
3.33(3…)  

1 

 

2 

 

 

3 

 

 

 

M1 for 3 + 6 + 5 + 7 + 4 or 21 seen  
M1 for 3 × 1 +  6 × 2 + 5 × 3 + 7 × 4 + 4 × 5 + 2 × 

6, allow one incorrect product or 90 seen 

 

and M1 dep for ‘their 90’ ÷ 27  
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Qu Answers Mark Part Marks 

15 (a) 

 

 

 (b) 

52 

 

 

22 

2 

 

 

1 

M1 for 180 – 128  

or 128 or 52 marked on diagram in a 

correct position.  

16 (a) 

 

 (b) 

3.844 × 10
5 

 

4.55 × 10
8 

1 

 

2 

 

 

B1 for figs 455 seen 

17 (a) 

 

 (b) 

 

 (c) 

< 

 

> 

 

< 

1 

 

1 

 

1 

 

18 (a) 

 

 (b) 

 –4, –7, [+]5  in any order 

 

–22 

1 

 

2 

 

 

M1 for –10 and –12 seen 

SC1 for –10 +12 seen 

 
19 

 
with 2 correct steps seen 

k

k

35

18

 

 

 
3 B1 for 

k

k

3

5

 

and M1 for  

5

3

7

6

their×  

20 (a) 

 

 (b) 

Angle or triangle [in a] semi-circle  

 

7.068 to 7.07 

1 

 

2 

 

 

M1 for π  × 1.5
2  

seen 

21 6632.55 cao final answer 3 M2 for 

3

100

2

16250 ⎟

⎠

⎞
⎜

⎝

⎛
+× oe  

 

or M1 for 

2

100

2

16250 ⎟

⎠

⎞
⎜

⎝

⎛
+× oe 

 

SC2 for answer 382.55 final answer 

22 14.5 oe 3 M2 for complete correct method 

or M1 for one correct step 

23 (a) 

 

 (b) 

 

 

1 

 [v =]

m

E2

 or 

m

E

5.0

or 

m

E

2

1

 

1 

 

3 

 
M2 for v

2 

= 

m

E2

  

or M1 for mv
2

 = 2E or  ½ v
2 

= 

m

E
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12 Triangle drawn correctly  

with ruler and arcs  

3 M1 for one side drawn to correct length  

 

and M1 for clear method of crossing arcs even if 

wrong scale or inaccurate 

 

13 

 

843.75 

 

3 M2 for 750

100

5.25750

+

××

oe 

 

or M1 for 

100

5.25750 ××

 oe 

 

or SC2 for answer 93.75 

 

14 

30

27

30

55

+  oe or 

30

27

30

25

)1( +  oe 

 

30

82

  oe  or  

30

52

)1(   oe 

 

15

11

2   M2 must be scored  

 

M1 

  
M1 

  
A1 

 

for denominator of 30k 

  
for denominator of 30k dependent on previous M1 

  
If M0 scored then SC1 for common denominator of 

30k seen  

15 (a) 

 

 (b) 

 

 (c) 

51° 

 

90° 

 

66° 

1 

 

1 

 

1 

 

16 x = −7 

y = 9 

3 M1 for consistent multiplication and addition/ 

subtraction as appropriate.  Allow computational 

errors 

 

A1 for  x= –7  or  y = 9 

17 (a) 

 

 

 (b) 

 

 (c) 

(–1, 2) 

 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

− 5

4

 

 

(1, 5) 

1 

 

 

1 

 

1 

 

18 (a) 

 

 (b) 

 

 (c) 

330 

 

1000 or 1 × 10
3 

 

46.3 

1 

 

2 

 

1 

 

 

B1 for 1000000 or 1 × 10
6

 or 10
6

 seen 
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19 (a) 

 

 

 

 

 (b) 

9p – 4q final answer 

 

 

 

2

yg

x

−

=    oe 

2 

 

 

 

 

2 

SC1 for answer of  

9p ± jq  OR ± kp – 4q      j, k are integers 

 

or for continued work after correct answer  

 

M1 for correct first step 

i.e. either xyg 2=−   oe      OR      

22

y

x

g

+=  

or SC1 for answer   

2

gy

x

−

=  

20 (a) 

 

 

 

 (b) 

 

 (c) 

Perpendicular bisector drawn 

with 2 pairs of arcs and ruled 

 

 

Circle drawn radius 4cm  

 

Correct region shaded 

2 

 

 

 

1 

 

1 

SC1 for a ruled perpendicular without arcs or only 

one pair  

or 2 pairs of correct arcs with no line drawn  

 

 

 

Dependent on SC1 in (a) and an arc, radius 4cm in 

(b) to enclose correct area 

21 (a) (i) 

 

  (ii) 

 

 (b) 

18 

 

17 

 

21 

1 

 

2 

 

1 

 

 

M1 for clear attempt to find the middle number 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Part Answers Mark Part Marks 

1  121 042 

 

1  

2  250  

 

1   

3 

 

 86.7 or 86.74 to 86.75 1  

4 (a) 

 

(b) 

42 000 

 

10 381 cao 

1 

 

1 

 

5 (a) 

 

(b) 

2 

 

Both lines drawn 

1 

 

1 

 

6 (a) 

 

(b) 

(4, 1) 

 

Point plotted at (–1, 3) 

1 

 

1 

 

7  3a – 4b  

Final Answer 

2 B1 for answer 3a ± jb or ka – 4b  

or SC1 for answer reached in working then spoilt  

8 

 

 5.293 cao 2 B1 for 5.29 or 5.292 to 5.2927  

 

9 

 

 125 2 B1 for 55 or 125 in any other correct position on 

diagram 

or M1 for 180 – 55 
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13 (a) 5 cao 1  

 (b) 196 cao 1  

 (c) 97 cao 1  

14 (a) (0, 5) 1  

 (b) –2 1  

 (c) y = –2x + k 1 k ≠ 5 

15 (a) 26 1  

 

(b) 

10

3−c

 or 

10

3

−

− c

 oe final answer 

 
2 

 
M1 for one correct step of a two step method. 

16 74.1 or 74.137 to 74.140 3 M1 for 10 × 6 

and M1 for 0.5 × π × 3
2

 

17 [x =] 3, [y =] 4 3 M1 for correctly eliminating one variable 

A1 for [x =] 3  

A1 for [y =] 4  

If zero scored, SC1 for correct substitution and 

evaluation to find the other variable. 

18 (a) x
7

 1  

 (b) 5y
6

 2 B1 for 5y
m

 or ky
6

 in answer m ≠ 0, k ≠ 0 

19 (a) Ruled line from (0, 0) to (5, 22.5) 2 B1 for (5, 22.5) or (0, 0) at the ends of the ruled line. 

 (b) (i) 17.5 to 18.5 1FT FT their straight line 

  (ii) 3.3 to 3.4 1FT FT their straight line 

20 (a) Net completed 2 With one 2 by 5, one 3 by 5 and two 2 by 3 

rectangles correctly positioned 

B1 for 2 correct rectangles correctly positioned 

 (b) 30 

 cm
3

 

2 

1 

M1 for 3 × 2 × 5 

Independent mark 

21 (a) Angle bisector with correct arcs 2 B1 for correct line, with incorrect or no arcs or 

correct arcs with incorrect or no line 

 (b) Perpendicular bisector with two 

correct pairs of arcs 

2 B1 for correct line, with incorrect or no arcs or 

correct arcs with incorrect or no line 

 (c) Arc centre C, radius 7cm  

 Correct region shaded 

1 

1FT 

 

FT their arc centre C 
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15 

7

22
 − 

5

7
 

35

225 their×

oe − 

35

77 their×

oe or 

35

77225 theirtheir ×−×

oe 

35

61
 or 1

35

26
 cao 

 
B1 

 

M1 

 

  
A1 

 

 

16 

 

160 

 

3 M1 for sin 15 = 
628

][

oe or better 

 

A1 for  162.5[3…] or 163 

or 162.54  

B1 FT correct rounding 

17 30.9 or 30.88 to 30.91 3 M2 for 12 × 12 − π × 6 × 6 or 

4( 6 × 6 − 
4

1

π × 6 × 6) 

 

M1 for 12 × 12 or π × 6 × 6 or 

( 6 × 6 − 
4

1

π × 6 × 6) 

18 (x =) 3,  (y =) −2 3 M1 for correctly eliminating 

one variable 

A1 for [x = ]3 

A1 for [y =] −2 

 

If zero scored, SC1 for correct  

substitution and evaluation to 

find the other variable 

 
19 (a) 

 
7.5 × 10

–2

 

 
2 M1 for 0.075 or  3/40 

80

6

 

0.75 × 10–
1

 or 75 × 10–
3

 oe 

 (b) 9.3 × 10
7

 2 M1 for 93 000 000  or  93 × 10
6

 

or 0.93 × 10
8

 oe 

20 (a) Circle, radius 3 cm, centre A, not inside the 

rectangle 

2 M1 for arc or full circle centre 

A radius 3 cm  

or for an incorrect size circle at 

A outside rectangle 

 (b) One line of symmetry with correct arcs 

 

E.g. 

 

 

 

 

 

 

2 

 

 

 

 

B1 for correct ruled line (must 

reach or cross two sides) 

B1 for 2 pairs of correct 

intersecting arcs 



Scale drawing / Loci / symmetry P1 Answers
8) 

9) 

10)

Page 2 Mark Scheme Syllabus Paper 

 IGCSE – October/November 2013 0580 12 

 

© Cambridge International Examinations 2013 

Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answer Mark Part Marks 

1 3 + 5 × (4 – 2) 1  

 
2 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

2

2

 

 
1 

 

3 12 final answer 1  

4 (a) 3.5 symbols in hot chocolate row 1  

 (b) 7 1  

5 19%  0.719
5

  √0.038  sin 11.4  1/5 2 B1 for decimals [0.19], [0.2], 0.194…, 

0.197…, 0.192… seen   

Or for four in correct order 

6 (a) −447 1  

 (b) 2 1  

7 15.7 or 15.70 to 15.71 2 M1 for 2 ×  π  × 2.5  

 
8 

 

160 

 
2 M1 for 

18

8

 × 360 

9 (a)  1  

 (b)                        or             or 

 

 

 

 

 
1 

 

 

 

Many other answers 

10 8.54[4....]  2 M1 for 7.2
2

 + 4.6
2

 or better 

11 10.1[0] Final answer 3 M1 for 1.3199 and 1.3401 seen 

and M1 for 500 × 1.3199 or 500 × 1.3401 or for  

500 × (their highest – their lowest) oe 

  

12 10[.00] 3 M2 for 1.90 and 2.90 and 5.20 only 

or M1 for two of 1.90, 2.90, 5.20 in a list of three or 

two values from the table 

or SC1 for 1.90, 2.90, 4.30 [from 

2

20.540.3 +

] 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 −8 1 Accept negative or minus in place of ‘–’ 

2 3.87 × 10
-3

 1  

3 (Triangular) prism 1  

4 17.5  1  

5 54(.00)  final answer 2 M1 for 

100

5.18450 ××
  

oe 

or SC1 for 504(.00) 

6 Perpendicular bisector of AB  

with 2 pairs of arcs 

2 SC1 accurate, but without arcs 

 

7 11.5,   12.5 

 

1, 1 Independent 

SC1 if answers reversed 

8 14 2 M1 for 

( )
7

7108

230

×

+

 or better  

or SC1 for 216  as answer (steel) 

9 8.36(0) 2 M1 for 

3.6

h

 = tan 53° or 

h

3.6

 = tan 37°  

or better 

10 (a) 5.062608(024) 

 

(b) 5.063 

1 

 

1ft 

 

 

ft (a) to 4sf only if their (a) is 5 digits or more 

11 (a) 2 lines joining opposite vertices 

 

 

(b) Centre square and any other 

 or 2 adjacent corner squares  

 or 2 centre squares on adjacent edges 

 

 

1, 1 

 

 

1 

Independent  

Accept reasonable freehand 

 

Any of these diagrams: 

 

 

 

May be rotated through 90, 180, 270 degrees 
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 (c) (i) 1.5 to 1.6 B1 ft  

 -4.5 to -4.6 B1 ft ft is their intersections with the x-axis 

    

  (ii) 4.5 to 4.6 B1 ft ft is their positive (c)(i) + 3 

    

 (d) (i) correct line L1 long enough to cross y axis  (+/- 1/2 small square) 

    

  (ii) (y =) 2x - 3 B1,B1ft B1 for 2 (as coefficient of x) 

   B1 ft for their intersection with the y-axis 

   [16] 

    

9 (a) Pentagon B1  

    

    

 (b) (i) 61 to 63 B1  

    

  (ii) AE = 6.3 to 6.5 cm   

 and DE = 5.7 to 5.9 cm B1  

    

 correct arcs seen B1 accept concave polygon  

   SC1 if lengths reversed and with arcs 

    

    

 (c) (i) perpen.bisector of BC B1 +/- 1mm and +/- 1 degree accuracy 

 correct arcs seen B1  

    

  (ii) bisector of angle ABC B1 +/- 1 degree accuracy 

 correct arcs seen B1  

    

    

 (d) "M" correctly marked B1 dep. on at least first B1 in each part of (c) 

    

    

 (e) 2 marks 0.8 (+/-0.1) apart B1  

 1.85 (+/-0.1) from A and B B1  

   [11] 

 


